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(1) BAARS (’35“ bt | e (2) BAFms iﬁ:f‘ e |
KFEAAY H* TuEAF F 0.2 0.01 0.02
UFGLAF Lit WRAF cr 2295 64.73 97.96
TR LAA Na* 784.8 34.14 5204 | RF14 Br 6.9 0.09 0.14
HUS LAY Kt 34 0.09 0.14 | I9J|AAY 1~ 28 0.02 0.03
FUEZYLAFY  NHE 0.6 0.03 005 | EfHEE 4> NO3
ITRUILAFY Mgt 0.8 0.07 0.11 | WERAA4Y NO3
VP N . Ca? 624.2 31.15 4748 | KEg1AY OH"™
APAVFOLAFY St 0.8 0.02 0.03 | WibKkFAA HS™ 0.04 0.001 0.00
AU PN & Ba? 0.05 0.001 0.00 | F4HEE A Sz 0% B W
FIE=o LA AP 0.04 0.004 0.01 | WBRKRAA HSO3
oA AT Mn2* 04 0.01 0.02 | BEEAA> Slet 1.7 0.04 0.06
(M) 14> Fe2* 23 0.08 012 | Yo BEKFRA A HPO3™
() (A Fe3* ARTEEERA A AsO3
R4 Cu?t BBk RAA HCO3 718 1.18 1.79
ERAA Zn2+ BEAY cos
AT ABAF HSIiO3
AR EA A B0z
B14r &t 1417 65.60 100 (=X 2378 66.07 100
(3) FEMEmERsy = (4) BEARERS
EUETN SYEL EUL SN SYEL
% (mg) (mmol) R JZ'-njtz) (rnJmo}I)
A4 H SiOs Tl 0.10 MR B{LitE CO: 11.6 0.26
AFHRIE HBO: 6.9 0.16 (b i o B
AEERE HAsSO: WEERIEKE Hz S B B —_—
UL ER Has PO4 —_ _—
g Hz S04
JERERERL Y Bt 14.6 0.26 BEARES Bt 11.6 0.26
BEYE HRAEOLOERL) 3810 ma/kg Rt 3822 mg/ke
(8) ZOOWERS
KR He FiRH ( 00005 mg/kegkid ) En Pb F#H ( 001 meg kel )
HREH L4 Cd THH ( 0005 mgskekd ) #onL cr Tl ( 002 mg/kgkil )
HWEE As 0.001 mg/kg
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